1. factored form: y=a(x-s)(x - t)
2. standard form: y=ax?+bx +c

3. vertex form: y=a(x-h)?+k

The Vertex Form of a Quadratic Relation
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Ex.1 Graphy = (x - 2)° + 1 using a TOV.

Expect vertex at (2, | H
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The vertex of the parent function, Y. = X , is (0, 0).

If the vertex has moved from ( 0, 0 1o ( h, k) then the

graph has been z Y
translated (up or down) %,
and TONZOTLally Dy Tl Ullits (left or right) 92
Vertex Form: y=a(x-h)*+k

What about the signs of h and k?
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Ex.2 State the coordinates of the vertex and direction

of opening.
(@)y=(x-57°+4 Verte>(5| k > Opens(_ JP
(b)y=(x+3)*+11 Vertex/ Opens

(c)y=-2(x-6)*-8 Verte>( x Opens Q SM JAY

(d)y =3%(x + 13)*- 2 Verte>(|§ ‘,2) Opens

e)y=-(x-472+5  Vertex( 7, S 2 Opens ct‘:v[]
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See Geogebra quadratic translation demo
(click here for link)
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Ex. 3. Identify the transformations (in the correct order), the vertex,
axis of symmetry, the direction of opening, and step pattern for
each of the following parabolas. Use your information to graph.

a)y=(x-2)*-3
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b) y = 2(x +4)° -l—o

V scaled
B\, strohched

v (-4,0) o
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c)y=-0.5x*+4
Framsfocmahons
VerhcaQ reflechan
V.scaled Ly 2.5
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Assigned Work:

p. 269-271#1, 3,4 ,6,7,8, 11
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2. 4= —(x+3) -2 | V(-3,-2)
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